MathVine - Pre-Algebra Name

Adding Integers Date Period
Add.

1) 64+ -3 2) —8+44 3) —10+ 10 4) 14+ -7
5) -9+1 6) 2+ —1 7) 3+ -8 8) 9+ —10
9 —-1+1 10) —649 1) 7+ -7 12) 8 + -7

13) —5+ 2 14) —10+7 15) 44 —6 16) —3+9



MathVine - Pre-Algebra

Adding Integers

Add.
1) 6+ —3 2) —8+4
| Answer: 3 ] [ Answer: J
k.
—4
5 —9+1 6) 24+ —1
Answer: { Answer: 1 ]
| —8
9 —1+1 10) —6+9

- N
Answer: 0 ] L Answer: 3 J

\

Name

Date Period
3) —10+ 10 4) 1+ -7

{ Answer: 0 J Answer:

—6

7) 3+ —8 8) 94 —10

| Answer: Answer:

-5 —1

M) 74 -7 12) 8+ —7

[ Answer: 0 ] [ Answer: 1 j




13) =542 14) —10+7 15) 44 —6 16) —3+4+9

' /
Answer: Answer: Answer: [ Answer: 6 J
-3 -3 —2
~ - 7
MathVine - Pre-Algebra Name
Adding Integers Date Period

Solution Steps

1) 6+ -3
Plot 6 on a number line
i I I I ® >
2 3 4 5 6 7
Because the second number is negative, we move 3 to the Left
i < l l ® -
2 3 4 5 6 7
2) —8+14
Plot —8 on a number line
i ¢ I I I I >
-9 -8 -7 -6 5 -4 -3
Because the second number is positive, we move 4 to the Right
i ¢ | | : » -
-9 -8 -7 -6 5 -4 -3
3) —10+10
Plot —10 on a number line

————F—~F+—~1—

| |
I I
41 10 9 8 7 6 5 -4 3 2 -1 0 1
Because the second number is positive, we move 10 to the Right
—+— )
4110 9 8 7 6 5 4 3 2 -1 0 1



4) 1+ -7

Plot 1 on a number line
i | I I I I I I *—
7 6 5 -4 3 2 1 0 1 2

Because the second number is negative, we move 7 to the Left

5 —9+1
Plot —9 on a number line
L ® I >
-10 -9 -8 -7
Because the second number is positive, we move 1 to the Right
« ® > H
10 -9 -8 -7
6) 2+ —1

Plot 2 on a number line
| ¢ |
1 2 3

4
N

N
|4

4
N

<4 0 >

I
0

Because the second number is negative, we move 1 to the Left
| |
I L4
0 1 2 3

7) 3+ —8

Plot 3 on a number line
Gttt

6 5 -4 3 2 -1 0 1 2 3 4

Because the second number is negative, we move 8 to the Left
——+¢ I l l l l l —1—

6 5 4 3 =2 4 0 1 2 3 4

8) 9+ —10

Plot 9 on a number line

4 | | | | |

| |
A I I I I I I

2 1 0 1 2 3 4

—t——>
7 8 9 10

Gttt —t——1

—
5 6
Because the second number is negative, we move 10 to the Left
ha
| |
2 414 0 1 2 3 4 5 6 7 8 9 10



9 —1+1
Plot —1 on a number line

L ¢ I >
-2 -1 0 1
Because the second number is positive, we move 1 to the Right
« ® > H
2 -1 0 1
10) —6+9
Plot —6 on a number line
—+—r—
7 6 5 4 3 2 4 0 1 2 3 4
Because the second number is positive, we move 9 to the Right
—+— )
7 6 5 4 3 2 4 0 1 2 3 4
M) 7+ -7
Plot 7 on a number line
i I I I I I I I o—
1 0 1 2 3 4 5 6 7 8
Because the second number is negative, we move 7 to the Left
—+—+¢ ; l l l l : *—
1 0 1 2 3 4 5 6 7 8
12) 8+ -7
Plot 8 on a number line
] I I I I I I I o—i
0 1 2 3 4 5 6 7 8 9
Because the second number is negative, we move 7 to the Left
«—+—+¢ I l l l l l *—
0 1 2 3 4 5 6 7 8 9
13) —5+2
Plot —5 on a number line
< ® I I >

Because the second number is positive, we move 2 to the Right
® : ) >
-6 -5 -4 -3 -2

|
I
6 5 4 3 2
|
I

4
N



14) —10+ 7

Plot —10 on a number line
——@ I I I I

| |
I I
41 10 9 8 -7 6 5 4 3 2
Because the second number is positive, we move 7 to the Right
—+—=@ l l l l l I —>
41 10 9 8 -7 6 5 -4 3 2
15) 4 4+ —6
Plot 4 on a number line
i I I I I I I *—

-3 -2 -1 0 1 2 3 4 5
Because the second number is negative, we move 6 to the Left

«——+¢ | I I I I *—
-3 2 1 0 1 2 3 4 5
16) -3+ 9
Plot —3 on a number line
——0— I I | —

4 3 2 - 1 6 7

—t—1—
2 3 4 5

umber is positive, we move 9 to the Right
—+——+— -t
4 3 2 - 1 2 3 4 5

—

I
0
Because the second n
|
.
0 6 7



